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Body A of mass 4m moving

with another body B
ead on and elasti

collision is h _
the collision the fraction of energy

colliding body Als:
1
1) :

@

®

9
8
9
i
9
D
9
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In a double slit
" wavelength 400 nm was use
of the first minima formed on a screen placed 1 m
away, was found to be 0.2°. What will be th
angular width of the first minima, if the entir
experimental apparatus 1s immersed in water

E"'water =4/3) A
1) 0.266° - !
@ 015° 9‘\4
3 0.05° \ 0

4 ° g X
{)‘ 0. 5 Yoo S 7.@

experiment,

when light of 3
d, the angula_z"WidtH b
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30.

31.

(V)

33.

o

ot from the bottom of a long

; sh
yot 18 ¢ ol
o i [l plane kept at an angle 60° with
oot ] ita ) travel a distance x, along the
an tri |
8 m:llk 1t }‘ n the inclination 18 Pl
3 ne .
‘- : G- : ame object 18 shot with the same
) s +he sau ] ‘I h e
ey an travel X distance. Then x, : x,
2k r 1t C ‘ 9
10city:
e
\\‘.‘; be
&)
1 ] N ~
]
) 2
b 1 v 3
9.3
LN Y
4) 8%
rticle consists of :
-pé
ok - 9 rONns ‘)n]\'
2 Dr(){()ﬂb and 2 neut - .
(1) i i 1 S trONE
9 electrons, 2 protons and 2 neutro
(& . V' |
9 electrons and 4 protons only
Ay
(2
9 pmtons ()n]y
4) 2
T. - -4 o ) l 2 /
12 speed of a swimmer in still water is 20 m/s.

©... aneed of river water is 10 m/s and is flowing
1 h',;‘ i.}‘c;‘ If he is standing on the south bank and
d““;:\:'&) cross the river along the shortest path,
"\}% I:I;g]e at which he should make his strokes
the ¢ S e -
t. north 1s given b:}O g} :éga
1 30° west A(L' L )

APAY

@9 SNOLO Lo-
(3 60°west e

(4) 45° west

w.r

5 oo
A particle moving with velocity V is acted by three
‘f})rc,(*s shown by the vector triangle PQR. The
velocity of the particle will

(1) mcerease
(2)  decrease

(3) remain constant

—
(@) change according to the smallest force QR

34.

36.

37.

Pl

Two particles A g

arucies / nd B 2 .
: B are Moving m uniform
circular motion in

1\(‘rn,j,xnr”'_ _”'1_[

es of radn

ry and rp with speed 1. an ' ' !
A : B Spe dv, and; B respectively. Their
time p"rt"‘{ of rotation is the Same, Th g
. = e ne ratio ot

angular speed of A tq that @ ratioo

’1fR WIH be
(1) ry:Tp

A\ )
(2) Up i Up
(3) Tg iT,

4 | 8

A block of mass 1¢ kg is in o
inner wall of a hollow r:vlindf
1 m. The coefficient of é‘ictio
and the inner wa]) of the
minimum angular vel
to keep the block st
vertical and rot
(g=10 m/s?)

(D 10 radss

10 %

(2) 5- rad/s

ontact against the
1cal drum of radius
n between the block
the cylinder is 0.1. The
ocity needed for the cylinder
ationary when the cylinder is
ating about itg axis, will be :

(3) 10 rad/s
4 10wrad/s

Two parallel infinite
charge densities + )\ (
at a distance of 2R in
electric field mid-wa

line charges with linear
m and -\ C/m are placed
free space. What is the
Yy between the two line

charges ?

(1)  zero

@) % NIC
3) m}; R N/IC
O g™

Two point charges A and B, having charges
+Q and —Q respectively, are placed at certain
distance apart and force acting between them is
F. 1f 256% charge of A is transferred to B, then
force between the charges becomes :

1 F

(2) 9F gf ‘{?l 1)_ =
16 ne v
16 F A . DKB"@
1_6F_ ki i3
4F p 3%

@
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1“1 ™
\'\‘?'. arrent The plot o
. field, B with the distance

y(lv the conducte r. 1
+od by the figure

1 — —

R d
B |
TINR - d
B“ A
/ i\

3) 1N
!//5 S
|/ ' =

R d
B| ‘

| /

(4) ‘l Va
\/ 5
%

R d

The number of sigma (o) and pi () bonds in

pent—Z-en-fI-yne 18 :

DR®
(1) 10 o bonds and 3 -rrbonds
2  8obondsand 5 mbonds
(3) 11 o bonds and 2 bonds

@) 13 o bonds and no 7 bond

. . =
onductor of radius It 18
f r\<‘>_ magnitud

C *CU-Cu.ocu

CH

@

H
/f-,:;.';:f-&.,\,. O . H™ L
- » I\ [{ ( )
\\\ = :
CHj
) = C\\
C
CHg
(1) :

CH,—0-0-H

HC
> CH,

@
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57.

61.

@ @ @ G @

QY nylon-6,6"

of the following 18 incorrect
WhthbF i8 covalent in nature
@ siCly® casily hydrolysed &
@ (xsF,Cl,Br,I)mmoresta than
GeX4

(3) Gexz - -
@ gnFy18 jonic in nature

Jlowing -

atch the 0 .

% pure nitrogent @  Chlorine -
- Haber process= ()  Sulphuric acid

(b)) ContactProcess  Gii) Ammonia
(@

@ Barium azide

Which of the following is the correct option ?
@ ® © @

a ® @ @

@ @ vy O @)
@ @ v @ @

i \ 3 ,‘1 \_& 3

ch of the following diatomic molecular spec.:ies
g;};l(cmly  bonds according to Molecular Orbital
Theory ? .

@ O
@ N
e G
4) Bey

For the second period elements the correct
!

increasing order of first ionisation enthalpy is :
1 Li<Be<'B<C<N<0<F'<N'e

@ Li<B<Be<C<O<N<F<Ne
® Ia<B<Be<C<N<f()<CFL:%ﬂ1$’%

@) L1<Be<B<C<O<N&5‘1<N‘e;
& '|r

The biodegradable polymer i
;'rl v"
@  nylon2-nylon6
(3  nylon-6
4  Buna-S

* Deacon’s process (iv) Sodium ‘azide or

¢

@ 05x10°1
@ ozsséiﬁ"- 0
@
@
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Identify the incorre
from the following :

(1

(2)

@)

4)

(1)

’ct I":tm"m“m r"latmi o P

Three equatoria) p
of 120° with each

i & ”mnrj Make .

ther Nl ang],
Two axial P— ¢ 1 bonds make 5, angle of 1
with each other 1%
Ax}al b Cl b()nd’ are 1')!12‘:!‘ th: e
P — Clbonds ’ =, “quatorig)
PCl,

s molecule ig non-re active

Which will make basic buffey 7

50 mL of 01

M NaOH + 9=
o0 <2 mL of g 5 M
100 mL of 0.1 M CH)(_'OOH~ 10(
0.1 M NaOH ; et
100 mL of 0.1 M HC1+2(JU mlL
0.1 MNH,0H
100 mL of 0.1 HCl+ 109 mL of 0.1 )
NaOH

The major product of the following re action is

4)

COOH

Strong heatin
+ NH, Strong heating

COOH

COOH

&

CONH,

NH

O:: j:O
Z,

COOH

NH,

NH,

bt

NH,

80.

81.

82.

s
.\-’4'/ hyh £
“’”"'! (’:lun;;: ] '”'"’?n ! %
(‘Qlu’nn l =i
Xep iy )
r l,.}.’
:7();—- ~ o dla
9 Xeq o '
COde: Py Midy)
(a) (b) (c) )
(1) 1 (n) (i3
@ @ W Gy
)
(:
3) (1) @) g (i)
@ mw) (iv) @) (i)
The Mang,
Nate
tetrahedrb ema_nd permanganate 10ns 5
( -~
Y TFSX} ndmg Volves gye erlap of P-orbitals
genw
: 1th d-op; Itals of mangane\e
@) Thepe; 1800 7. by 0nding
(3) -
Tfhe bon ding inyolye € overlap of p-orbita]s
of oxy genwith p.g rhitals of Imanganege
@ Then bondlngmxol\esmerlapofd-orbuaL
of 0Xygen with orbitals of manwanese
Which of the following SPeciesis not stable ?
D [SiFg-
@ [GeClp2-
®) [Sn(OH),)2-
@ [Sic)2-

Fora cell Involving one electron E

ell= 059V at

298K, the equilibrium constant for the cell reaction

183
2.303RT ot T = 298 1\]
[Giver; that ———— = 0.059 Vat T |
(1) 10x10
@  10x10°
@ 10x10°
@ 10x10"
‘4‘
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96.

97.

98.

['he shorter and lon}’ﬂ' arms of 5 Sul”“*‘tacmm.m
chromosome are referreq to ag -

] s-arm and l-arm respectively

p-arm and q-arm respectively
q-arm and p-arm 1-(451)5.(‘“.\.91»\,

m-arm and n-arm respective

ly

Respiratory Quotient RQ)

value oftripalmitin 1S
1 0.9
2) 07
3 0.07
A 0.09

Which of the following ig g Commercial blgeg
cholesterol lowering agent ?

1) Cyclosporin A

(2) Statin

(3)  Streptokinase

(4) Lipases

Match the following Structures with their
;-e spective location in organs :

@  Cryptsof Lieberkiihn @) Pancreag
()  Glisson’s Capsule (11) Duodenum
() Islets of Langerhans (i11) _Small.

| Intestine
(iv)  Liver
Select the correct option from the following :

@ (M) @ @
O @ @ @ @)

(d)  Brunner’s Glands

@ @ G GO (i)
3 @) Gv) @) (i1)
@4 @ @ G v

Which of the following is the most ‘importgnt cauiz
for animals and plants being driven
extinction ?

Habitat loss and fragmentation

) Drought and floods

Economic exploitation

Alien species Invasion

13
99,

100,

101

102.

103.

Whic
Dapy
The of th‘} &t Pl
(1 Y’Umregulatmn.‘_ hr.ﬂn I8 "’Sbﬁnsxhlo F()l'
i .
(erehn,m
2) .
3 .‘T)Othalmm&
3) )
@) rpusc“u'l*lun
\Ieduﬂa Ohlongat
Onside R
( rfoHom gfeat\lms'
a) gan Syst, 1 ‘
; 8 eve] o .
(b) ﬂateral sy etry Eamsanon
© True Coglq Swith
) i
Select th Coryre opty fs 3om i
POsgegg all S ani
a Be ab characteris o P which
) elidy
2 OPoda anq Chordata
2) A«nnelida.
a3 % ; Poda ang Mollygeq
g 0
p: VPOda, Mollygeq 4 Chordyty
elidg, Mo]lusca and Chordata
Select the ¢
alimentar ‘C);;a;!t fsequence of organg In the
oo o1 cockrogey, Starting frop,
) Ph
(}izi?;-:ilx 3 Sophagyg = Crop -
= lleuy Colon — Rectum
() Pharyny - Oesophagus = Gizzarg
Crop — leun — Colon — Rectum
(3) Pharyny - Oesophagus = Gizzarq —
lleum — Crop — Colon — Rectum
@) Pharyng - Oesophagus = lleum —
0P = Gizzarq — Colon — Rectum
Which of the following paipg of 8ases is mainly
responsible for green hoyge effect ?

(1) Ozone angd Ammonia

@) Oxygen and Nitrogen

(3 Nitrogen and Sulphur dioxide

@  Carbon dioxide and Methane

Which of the following muscular disorders is
nherited ?

(1)  Tetany

(2 Muscular dystrophy

(8)  Myasthenia gravis

(4)  Botulism
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14
104, 0 B '
The ?1hated epithelial cells are required to move | 108. The correct sequence of phases of cell cycle ]
particles or mucus in ific di : q
O a specific direction. In 1M Mo GGy~ s
» these cells are mainly present in : - -
(I Bile duct and Bronchioles @ G GG>52 3
(2)  Fallopian tubes and Pancreatic duct ® 8G90 11::
(3)  Eustachian tube and Salivary duct @) Gt the cell
? nce
(4)  Bronchioles and Fallopian tubes 109. How does steroid hormon® influe
activities ? Ability of the
105. Match the Column - I with Column -1 : (1) Changing the PET™° '
Column -1 Column - 11 membrane. and forming
@ Binding to DN2 ~
(@ P-wave @)  Depolarisation of ne complex:
% gene-hormo ) cated on the
ventricles (3) Activating cyclic AMP
() QRS complex (i)  Repolarisation of membrane. ols as seca
: ventricles 4) Using aquaporin chann
(¢ T-wave (i) Coronary messenger-
ischemia :a pnot co
: ments 18 2
(d  Reductioninthe (iv) Depolarisation of 110. Which of the following A ero
size of T - wave atria (1) Lysosomes have num
Re ] enzymes. osomes a;
) ; tr}1‘)&cl>lansat10n of @ The hydrolytic enzymes of lys
active under acidic P
Select the correct option. e bound structi
(3)  Lysosomesare membran o
@ () © @ formed by the PFo =
: : (4)  Lysosomes are 1 ) emic retic
O G O 6@ G packagingin the endoP
9 ” . > 4 5 ardin
@ (.I.V) (.l) b 111. Which one of the follow1ing statferf‘é[e?vt:rli'zgp an
(3) (11) (1) (V) (111) post-fertﬂization development mn O -
@ G @ ) @) is incorrect ? -
(1) Ovary develops into fruit
106. Which one of the following is not a method of @  Zygote develops Into embryo
in situ conservation of biodiversity ? 3 Centr al cell develops into endosperm
(1)  Biosphere Reserve 4 Ovules develop into embryo sac
2  Wildlife Sanctuary
(3 Botanical Garden 112. Concanavalin Ais:
(1) analkaloid
(4)  Sacred Grove rag
() anessentialoil
107. In a species, the weight of newborn ranges from @ a lectip
2 to 5 kg. 97% of the newborn with an average (4 apigment
weight between 3 to 3.3 kg survive whereas 99%
of the infants born with weights from 2 to 2.5 kg :
or 4.5 to 5 kg die. Which type of selection process 113. Which one of the following equipments
is taking place ? _ essentially required for growing microbes ol
) Directional Selection large scale, for industrial production of enzym
@ Stabilizing Selection g)) ]SSIO(I: m;:lubaf,qr
cre T . udge digester
®  Disruptive Selection ® Ind gtrij 4
. naus oven
@ Cyclical Selection :
(4)  Bioreactor
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114.

115.

116.

117.

Consider the following statements :

A) (Coenzyme OF mgta_l jon that is tightly bound
to enzyme protein is called prosthetic group.

(B) A complete catglytic acgive enzyme with its
pound prosthetic group is called apoenzyme.

Select the correct option.

1) Both (A) and (B) are true.

V) (A) is true but (B) 18 false.

3) Both (3) and (B) aré false.

@ (A)1s false but (B) is true-

purines found both in DNA and RNA are:

1) Adenine and thy'@me

(‘2) Adenine and guaru'ne

(;3) Guanine and cytos%ne

@) Cytosine and thyminé

Gelect the correct sequence for transport of sperm

cellsin male reproductlve gystem.

) Testis = Epididymi's —» Vasa effefentla
— Rete testis—%Ingumal canal = Ur ethra
Seminiferous tubules — Rete‘ test.is

Epididym1s

fferentia =/
ens — Ejact
Urethral meatus

— Vasa efferentia
Inguinal canal

— Vasa €

. Vas defer latory duct
_y Urethra =
niferous tubules

Semi
i

= Epididymis
— Urethra
Testis — Epididymis
_y Vas deferens —
5 Inguinal canal
_s Urethral meatus

— Vasa efferentia

Ejaculatory duct

)
— Urethra

Match the hominids with their correct brain

size :

15

()
@
®
@

(a) Homo habilis @) 900 cc
(b) Homo neanderthalensts (i) 1350 cc
(¢  Homo erectus (i)  650-800cc
@  Homo sapiens @iv) 1400cc
Select the correct option.
(@ () © @
O @ @O G @
@ @ @ O @)
B G @ O @
@ Gv) @) @ @

P1

118. Variations
caused b 3
Hugo de Vries, are : Y ST prorosbeye

(1)  random and directional
(20 random and directionless
(3)  small and directional
(4)  small and directionless

119. Which of the following pai
g pair of
contain DNA ? paizcfargane ey O
(1) Mitochondria and Lysosomes
@  Chloroplast and Vacuoles
(3)  Lysosomes and Vacuoles
) Nuclear envelope and Mitochondria
120. Due to increasing air-borne allergens and

pollutants, many people in urban areas are
suffering from respiratory disorder causing
wheezing due to:

o) benign growth on mucous lining of nasal

cavity.
@) inflammation of bronchi and bronchioles.
3) proliferation of fibrous tissues and damage
of the alveolar walls.
@ reduction in the secretion of surfactants by
pneumocytes.
121. Select the incorrect statement.

(1) Male fruit fly 18 heterogametic.

@ Inmale grasshoppers, 50% of sperms have
no sex-chromosome.

@) In domesticated fowls, sex of progeny
depends on the type of sperm rather than
egg.

(4 Human males have one of their

sex-chromosome much shorter than the
other.

122. DNA precipitation out of a mixture of biomolecules
can be achieved by treatment with : :

Isopropanol
Chilled ethanol
Methanol at room i;empe,rature

Chilled chloroform
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123. Select the correct group of biocontrol agents. 128. Persistent nucellus in the seed 18 koW
(1)  Bacillus thuringiensis, Tobacco mosaic
(2)  Trichoderma, Baculouvirus, )  Perisperm
BGCfllus thuringiensis @¥ SHilan
(38)  Oscillatoria, Rhizobium, Trichoderma
e (49  Tegmen
(4  Nostoc, Azospirillium, :
Nucleopolyhedrovirus ) p) is adopted in th
129. What map unit (Centimor&?7
124. Select the incorrect statement. construction of genetic MP" two0 expresse
4 : . en ]
(1)  Inbreeding increases homozygosity. (1) A unit of distance big“’;ecross over.
(2)  Inbreedingis essential to evolve purelines ERse et cen twWO SXPEEE seg
in any animal. @ A unit of distance big‘(‘)’% eross OVeT:
(3)  Inbreeding selects harmful recessive genes genes, representin cen genes op
that reduce fertility and productivity- 3 A unit of distanc® biitnv; 19 Cross over,
(49  Inbreeding helps in accumulation of superior chromosomes, FePTES n genes o
genes and elimination of undesirable genes- @ A unit of distanc® b:i;: ;8% Cross over,
e resen
125. Match the following organisms with the products chromosomes, TP :
they produce : ¢ rate of a Pe¥ 8088 ]'f v
(@ Lactobacillus ~ (i)  Cheese 130. What would be the hear Jume in the VEDIICES
i cardiac outputis 5 Ls blood vo L and at the end o
@) ST — @) Curd at the end of diastole is 100 m
cerevisiae . ’_&m d ventricular systole 18 50 mL
- ; iii)  Citric Aci :
Osperstlus nigeh~ ; y (1) 50beats per minute
(d)  Acetobacter aceti - (iv) Bread e 75
\(v) Acetic Acid (2) 75beatsper min
inute
Select the correct option. (3) 100 beats per minu
@ (b)) © @@ (4  125beatsper minute
@ -G Gv G
3 ia helpful in
@ G @ 3@ o 131, Thiobacillus is a group of bacteria p
@ @ @ © O carrying out :
@ G @ @ o (1)  Nitrogen fixation
126. What is the direction of movement of sugars in 2  Chemoautotrop hicfixation
phloem ? (3)  Nitrification
. idirectional :
(1)  Non-multidirection @) Denitrification
2  Upward
(3 Downward ; ; : BT
o 132. Which of the following factors is responsible fo
(4)  Bi-directional the formation of concentrated urine ? ,

In some plants, the female gamete develops into

16

o embryo without fertilization. This phenomenon
is known as :
(1)  Autogamy
(¥} Parthenocarpy
(3  Syngamy
(4)  Parthenogenesis

Low levels of antidiuretic hormone.

@™
(2 Maintaining hyperosmolarity towards it
medullary interstitium in the kidneys.
(3) Secretion of .erythropoietin
Juxtaglomerular complex. Iy
(4 Hydrostatic pressure during glomerula

filtration.

AR e
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143, What ;
at is the site of perception' of P
necessary for induction of flowering 12 p

hotoperiod
Jants ?

(1)  Lateral buds

(2  Pulvinus

(3)  Shoot apex
A4)  Leaves

;entific DM€ of

144, Select the correctly writte? & pod by
Mango which was first descri
Carolus Linnaeus:

(1)  Mangiferaindicd (Car. Linn-
@  Mangiferaindica Linn.

(3> Mangifera indica
@)  MangiferaIndica

145. Following statements describe the charac;zrisgg
of the enzyme Restriction Endonucleasé: en
the incorrect statement- -
(1) Theenzymecuts DNA molecule atidentifie

position within the DNA. .
{2) Theenzyme binds DNA at specific sites and
cuts only one of the tW0 strands.
@3) The enzyme cuts the sugar-phosphate
backbone at specific sites on each strand.
(4 The enzyme recognizes 2 specific
palindromic nucleotide sequence 11 the DNA.
146. From evolutionary point of view, retention of the
female gametophyte with developing young emszryo
i irst

on the parent sporophyte fm;@:/me time, 18
observedin: €
@) Liverwoﬁ(f £ %

A as

(2) Mosses
) Pteridophyt@ A
"-ﬁr

g ,(Gym;a?pe

I
o

2. \) 23 2 'f' /P
A 4 20 )
In Antirrhinum @napdr;;:‘, a red flower was

crossed with a whi wer and in F; generation,
pink flowers were 0 tained. When pink flowers
were selfed, the Fy generation showed white, red
and pink flowers. Choose the incorrect statement

from the following :
This experiment does not follow the Principle

147.

@)
. of Dominance.
@ Pink colour in F; is due to incomplete
dominance.
: 1 2
. (3 RatioofFyis — : — (Pi —1- i
of Fyis 7 (Red): 1 (Pink) : 1 (White)
M Law of Segregation does not apply in this

18

152.

experiment.

149.

150.

148. (Conversion of glu
first irreversible re

by
(6))
2
3
@

@
ol
(€
@

Select the hormoneé-
Devices.

®
@
Je)
)

151. Agene loc
of dominan
frequency of homo
and homozygous r

population 2

@
@
)
()

M
@
@

@

Drug called

cose to glucoaeﬁ-phosph.m
action of glycolysis, is cata £

Aldolase

Hexokinase

Enolase
Phosphofructokinase

‘Heroin' 18 synthesized by :
of morphine

rphine

rphine

methylation
acetylation of mo
ycosylation of mo

ation of morphin€é

gl
nitr

releasing Intra-Uterin,

Vaults, LNG-20
d 375, Progestasert
~

Multiloa
Progestasert, LNG-20 ‘<(®

Lippes Loop; Multiload 37 5

lesA,a. If the frequency
4, then what will be tk

minant, heteroZygot
duals in th

us has two alle
t allele Ais 0

zygous do
ecessive indivi

0.36 (AA); 0.48 (Aa); 0.16 (aa)
0.16 (AA); 0.24 (Aa); 0.36 (aa)
0.16 (AA); 0.48 (Aa); 0.36 (aa)
0.16 (AA); 0.36 (Aa); 0.48 (aa)

Agrobacterium vector.

;t has yellow grains, because of a
introduced from a primitive variety
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153. Pi.nus seed cannot germinate and establish
without fungal association. This is because :

(1) itsembryo is immature.

@) ithasobligate association with mycorrhizae.
@) ithasvery hard seed coat.

ﬂ its seeds contain inhibitors that prevent

germination.

154. Which of the following features of genetic code does

allow bacteria to produce human insulin by
recombinant DNA technology ?

() Genetic code is not ambiguous
() Genetic code is redundant
()  Genetic code is nearly universal

4 Genetic code is specific

155. Which of the following sexually tr_ansmitted
diseases is not completely curable ?

(1)  Gonorrhoea

(2)  Genital warts
>(3)  Genital herpes

(4)  Chlamydiasis

156. Which of the following statements is incorrect ?
(1)  Viroids lack a protein coat.
. (2)  Viruses are obligate parasites.

(3)  Infective constituent in virusesis the protein
coat.

(4)  Prions consist of abnormally folded proteins.

157. Match the following organisms with their
respective characteristics :
(@) Pila @  Flame cells
() Bombyx (i) Comb plates
(¢)  Pleurobrachia (i) Radula 2
d)  Taenia (iv) Malpighian
tubules
Select the correct option from the following :
@ M) @© @
@O @ G @ Gv)
@ @ ™ @ @
@ @ (v G e o
@ @ & @ 6

P1
- Genes expressed as RNy
?) " Polypeptide expression
€)) NovelDNA.,m“l
159. Which of the fo] '
statements is incorrect ?
() Morels and truffleg are ogip e
ﬁ' Clamp‘mamofmlmy 1k loide and
- 48)  Conidi B o )
secosporeaendogunere, XOFenOusly and
4  Yeasts ha e
hread M g s vith ong

160. Match Column - [ witp, Oolﬁﬂn : |
R :7‘!']-: n

Column -1
@) Saprqpm‘ o)

(®)

©

@

Choose the ‘

Choos hecomel
(“) (b) (o)

Ao 6 @

@ @) @

® @ o

161.
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may result in :

@  Nitrogenous wagte build-up jn, the bod

()  Non-elimination of €XCess potassium j i

© Reducgd absprption of calcium j .
gastro-intestinal tract i

@  Reduced RBC Production

Which of the followin

S g€ options is the most

@ (a)and (b) are correct
@ (b)and (c) are correct
~3)  (c)and (d) are correct
) () and (d) are correct

164. Which of the following statements is correct ?

£

Co i
T0€a 1s an external, transparent and

protectlve protelnaCIOu
S COVerlIlg Of th'e

() Cornea. consists of dense connective tissue
of elastin and can repair itself.
é) Corpea is convex, transparent layer which
is highly vascularised.
(4)  Cornea consists of dense matrix of collagen

and is the most sensitive portion of the eye.

165. The frequency of recombination between gene pairs
on the same chromosome as a measure of the
distance between genes was explained by :

()  T.H.Morgan
(20  Gregord. Mendel
(3)  Alfred Sturtevant
@)  Sutton Boveri
166. Match the following genes of the Lac operon with
their respective products :
(@) igene (i)  B-galactosidase
(b) zgene (i) Permease
(¢ agene (i) Repressor
(d  ygene (iv) Transacetylase
Select the correct option.
@ (b (© @
@O O @ @ @G
@ @ @ @ G
) @ @ v @
WG ™ 0 @

167.

168.

169.

170.

171.

172.

. for pineapple plap
y long U7 | mbination of he

It takes Ver z 1
produce ﬂonerS- g ally induce flow

can be apphed hrO“ghout the year toin
plneapple pla

yield ?

¥ ! d Ethylene

@ AweR® Kkinin

@  Gibberellin and Cyto" .

Gibberellin and AbSCIIET
(6) ot nd Abscisic acid
5y L
tion protects the lin;

i 11s whose secre 2 Ning
I(fl:ltslgot-hixi::stinal tract from various enzymeg
(o)

1)  Chief Cells |
@  Goblet Cells
(3  Oxyntic Cells
@ Duodenal Cells
. be used as a biocont
.ch of the following can : X
Z‘;zlrft ifx the treatment of plant disease ?
&r Trichoderma .. '
|
@  Chlorella o
(3) Anabaena
()  Lactobacillus '
Phloem in gymnosperms lacks :
(1)  Albuminous cells and sieve cells
(2  Sieve tubes only
(3 Companion cells only
@  Bothsieve tubes and companion cellg
Extrusion of second polar body from egg nucleys
oceurs : _ I
(1)  after entry of sperm but before fertilis
(2)  after fertilization L
(3)  before entry of sperm into ovum .' ,
(4)  simultaneously with first cleavage
: o
Under which of the following conditions will

be no change in the reading frame of f
mRNA ? |

5" AACAGCGGUGCUAUU 3 fc.n; =
(1) Insertion of G at 5th ppsiti;) =~
(2)  Deletion of G from 5ti‘,pc;si ol
(3  InsertionofAand G at 4
respectively _
(ﬁr Deletion of GGU fr
I. d ‘

positions

L
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78, The concept of “Omnis cellula
cell division was first propos

(@ RudolfVirchow
@  Theodore SchWam;'
(3)  Schleiden
(4 Aristotle

174. What triggers activation of proto
toxin of Bacillus thuringiensis

(1)  Body temperature

@  Moist surface of midgut )
@)  Alkaline pH of gut

{A), Acidic pH of stomach

175. ldentify the correct pair repr'eq
causative agent of typhoid fever a:
confirmatory test for typhoid.

(1)  Plasmodium vivax | UTI test

@)  Streptococcus pneumqniaelWidﬂ}pe,_

(s

@3)  Salmonellatyphi/Anthrone test I. .
(9 Salmonellatyphi/ Widal test :
176. Whatis the genetic disorder in which an in i

has an overall masculine dev
gynaecomastia, and is sterile ?

- ()  Turner'ssyndrome
o @ Klinefelter's syndrome =
."| " N " ' 1 1
- (3 Edwardsyndrome

() Down's syndrome

e S

-
‘

it ©

‘ :

) :

construction of roads

e Bl i o 2
[3l_f.J_.\],,[f:.}"xlj'{l!‘\lff?:' and pipes
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